FIRSTTERMINAL EXAMINATION -2017

HSE (11) ECONOMICS

Maximum : 80 Scores
Time: 2% hrs
Cool off ime : 15 Minutes
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l,/l.’f_i:n.cul Instructions to candidates: =Y

«  Thereisa'Cool off time’ of 15 minutes in addition 1o the wriling time of 2% hours II
+  Youarenether allowed to write your answers nor to discuss anything with others during the ‘cool offtime!,
«  Usethe 'cocl off time' to get familiar wath questions and to plan your answers

- Read the questions carefitliy before answering

»  Caleulations, figures and graphs should be shown in the answer sheet itself.

= Malayalam version of the questions is also provided.

+  Give equations wherever necessary

+  Electronic devices except nonprogrammable calculators are not allowed in the Examination Hall.
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Amswer all questions. Each question carry 1 score
AR GanayenrAane gm.waw' M0, AICAT Caldayaminge an) Tedkad afl,me

¢. The value of next best alternative |
sacrificed
d. The value of marginal cost 1

iy ERlaatin |5 il Mg GBS Aeo
molmaam eratcinilang mpello

Section "A' | rrry Ry
Choose the correct answer irom the e @sasyomoknlng afanio wolelm gomos
foliowing (Ix3=3}) QTHODHETITSIIN nJ)%)H]eh, (1x3=3)
1. The Central cconomic problem of how 1. aspsmem pmlajodlaflescme apam @yauy
o produce is related te: ruomuamile: [aiulio aIMLa SN
a.  Distribution of Natonal lncome af. e3mlo ouol@om oflmssame
b, Technology of Production enil. podajosm quosEmld nilay
¢, Price Mechanism | mul, fler mucailiome
it Returns o scale ol emommyrudlafl8a (=m0 Do
2. Opportunily cost means; 2. mwurunoteh Salidl mRGmOa0sIDa);
a. Value of fixed cosl a,  ouriln eaaenikng aege
b. The value of variable cost b niloase aasnilec mege
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b.
.
d NDP,_+ NFIA =

5.

Which of the following is not related to
the calculation of price elasticity of
demanded .
Percentage change in quantity demanded
Percentage change in price

Percentage change in price
Percentage change in quantity demanded

Ep=24. P
Ap g

Lower portion of the demanded curve
Upper portion of the demanded curve

Fill in the blanks

Indirect - Subsidy o T

Tax paid received
Gross - Depreciation

nvestment

Direct a
tanes

Personal -
Mcomme

Give economic term for the follow ing
(1x4=4)

a. Degree of responsiveness of
quantity demanded to change in its
price

b. The ratio of nominal GDP to Real
Gcor

<. The family of indifference curve

d. The value unsold goods, un used
rawmeterials and semifinished
goods whicha firm carry from a year
to next

d,

b,

.

d.

5.
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AYELT . (Ix4=4)
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Match Column A with Column B 6.  cainjenss! Gakben)an, (lx5=5)
; (Lx5=5)

A B A B
Indilference i. Spending on TURDAHS o i myEnsm ooy
curve Capital goods {mlqyommankme) BT R T
Isoquant ii. Rectangular DAR Daleur

hyvperbola DT il. en@simed
Average iii. Production aDnan)l eaudn
Fixed Cost D3] ii. pdapamo
Thvestment iv. Consumplion qurlo @ alE
Marginal Cost | v.  'L'Shaped MiDn o V. paltrdmo

mlaonm ealein v. ' cmpemy et

Answer any 7 of the following. Each carries 2 Score (2x 7= 14)

MINE DehISITN CaAEHHE afommlens 7 agapanini ammas mEla e, AIED3 Canaimminge

2 alicmad oflma (2x7 =14)

Classifv the following under the two
branches of economics.

Elasticity of demand,
GDP deflator, cost of a fim.

inflation,

What is the difference between positive
economics and normative economics?

if the price of good X rises and it leads
to an increase in demand for good Y,
How are the two goods related? Give
examples.

. Ilow the central economic problems are
solved under;

a. Centrally planned economy
b. Market economy

Write down any two properties of
indifference curve,

7

TINE DehIS] @D Blaniana Mo oo
WIATOUm IR MDoole) s,

2a13M PEIITEMSM, CISTaad]ap, =l
UWlall adladeggd, so) poiapam wemigond

Baleil

apTimailes MUOMKIR S @OTIMALs nI0as
alén MUOMUDIRle Womiimaga (Gaipmilyin
maacamozlLml, emodaaginl mescsma
aleboi) mamlengs almiIMis afaEe

X apm mowmoslen alens)eamow
rudaumal, Y afon ouowmmotkend saionm

. ool cedanmalsreoasl apenlod som) Tuow

MEMWPe AEIRAM FUTWansidlaaymm) 9a9
APHDETTIEIUE Agy @) ch,

2)a) Ul LGmERU moseadIS)
SN Turud TG EkE e Al
an@laa] Ty,

A, G [MBOMULANEM MOTUENL TN
b, eoouog muTUARIYNITUN

TUaR S uoOmleT  {wlrvsm Mmoo
APRTISIEND DETE TunilaWaImUl af) T,
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12

1

15,

17.

Observe the following diagram and
answer the questions given below.

.5

IS SnISHIN Ao minleedl gmlmy
Subaidy GaIDA}SIREES DOTNe MHElds)ds,

4. ldentify the bundles which cost
exactly equals consumer's money
income.

b, Identify the bundles which cost less
than consumer's monev income.

State any two basic reasons for the
central economic problems,

. What is the difference between

accumulated inventory and

‘decumulated inventory?

Write any twao relationship between
marginal produclt (MP) and total
product (TF) of an input.

good

Pl

d. palessamonlad] uoyaomoe aljdem
20T DalEIEland aerBIanan snkrEl
Bl dnGaBmm| ad)e) mi,

b. guessemoalan ceyeame andepy
eumle e yflnginlod nossonnm
TRl ap@mgot

roquiaIyITEReGd andlna e alaaym agay

usTHORd (il Memodas Ganm oo

ARDMELIILS DR] AODTDSTBU Af) I,

oBanniolules muladlesats maanag

olilen GupoausNngy mowleEn NymLoTU.

Ay

B @ela TN aulzoan pelaymage
IEIENRG QR STHTWEMNA ng)s o,

Answer any 3 of the following questions. Fach carries 3 score (3x3=9)
MINE DeBRISIAD Cali3emalsd agammlens 3 aanTEnln @I0g AfE M. 400 Galday
malnys 3 micamad ofma (3x 3= 9)

Distinguish between stock varible and
flow variable with one example each.

Briefly explain three limitations of GDP
as the index of welfdre,

. A consumer purchases 20 units of a

commodily al rupees 10 per unit. When
price falls to rupees 5 per unit, she buys
30 units of the commaodity. Calculate
price clasticity of demand.

1.

Gmaloolo  (aloannils o) enss

ULMLDIUC BRIADDET TUANTMe af)F1im ],

OADMPo aRELOmn Delajmme (GDP) goan
DG ARANNESILINT] dEmaadsaTnmi
enms oy aaloloileed anopesl oo
e,

20} Daldsaamoni 10 0)al Mlossind 20 ey
muowmEIEed auostElay), filer 5 My monyes
DemmEa)oud Gaidame 30 aemlgom]
udanlajl. agpeslod ailer @enmd ol e o
HOETTH s,
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19. State the law of demand. Draw demand
curve from the foliowing data.

Price/Per unit | Quantity demanded
40 5
20 10
20 15
1 20

W G200M TGO af)¥]mis. OO AhIE)mm

AT PolGdia] Eal0Ammn QD@

el aflel Caldam TR
40 5
30 10
20 15
10 20

Answer any five of the Tollowing. Fa

ch question carries 4 score (4 x5 = 20)

MING DARISITN CaAIENR agaPRIens FRaEEnlad @mae A m .

S5 TEE R 16 PHERRRS Ve

33 arfkma (4 x 5 = 20)

20, Observe the following diagrammes 20, MO6F MdpOS)O OLWEATIBRUD Mlnlmeloe,
Prive A Frice B
\ e
Dl
D D
(6] Q
Demnanud Diemand

a, Identify the two diagrammes
b. State the reasons for the difference
between the two diagrainmes
21. The Gross value of output produced by
firm X is Rs. 58,000. The Gross value of
output produced by firm Y is Rs. 75,000.
The value of raw materials pu'rchased
by firm X from firm Y is 8,500. The value
of raw materials purchased bv firm Y
from firm:-Z is Rs. 5000, Then calculate
value Added by

(@) Firm X, and
(b) FirmY

() Differentiate value added from
value of output.

A, DEME) ALDERE s Dol
b. megsd eeosymmlsan aoumemgiae
AMIITLANGINS @ 0BaIHBE) TS
71 X apmn geigpan opsmiglon asooma
@y aesye 58000 @z Y agim peiap
am memiglaa) ezoomo @EILID &Rl 75000
myerd, X pelapam mgemld Y gealapon
oemigled milone awsEln Abruomiagm
WO As @IS aelys 8500, Y Deigpam
wyemlg £ geigeamn ojemlgled alane
UPEIEID DTS UMD ENEINS Bjals
5000, afyEnlod
(a) X gelgpom memiglond e5leadom
BYEIND @RI,
(b} Y gelapam mpsmiglacg agleadon
BIEILe EhDETT i,
£} anglaasdom meiynie geiaom ajeyae

25 Economics - 5/8



22, From the following data calculate 22, MONY BeRdsITm ATWHEasGE Dalemooila]
personal Income. NUASTND UMIIM e b,
Hews Rs.in cores Dmeangd afes
a. | Net domestic product 20000 cendslodnd
al fac tor cost INDPL) a. | nesen almmlad aeg ameyomg 20000
b. [ Net factor income form 500 gelajmma (NDP)
abroad (NFIA) b. | nlleawomyminmas ang 300
c. [Undistributed profit 300 AersaumiEnme (NFIA)
d.|Corporale lax 800 C. | al@aame @20goam 2106 300
e, | Interest received by 1200 d.| amadazend layml 800
household €. | 00Gnanlen @erTiigemdan 1200
f. |Interest paid by household | 1700 pidla) aledllua
g. | Transter iwome 300 f. | wodianks wErigyud
awsa) aleils 1700
8. | zogeenosymlad S00
(Transfer incomes)

k3

Ohbserve the following diagramme

good,

Based on the diagramme, correct the

FRR

B

moey MmeElalnigan ALDHNe 1A el

following statements if necessary

a. Bundles C and D are inferior to

bundles A and B.

L. Consumer is indifferent between

buidles €. and.D.

¢. Bundle A is preferred to bundle C

th

Bundle E is inferior to bundle D

good,

ne@manland seslrocomamiad (amenoo

Manplod Ao aareelod milnmm e,

a. A, B snssrdlanapyanoe) monmaio 0s0)
ampd C, D suarslansaed mosmadan

ATDETT,

ool mlmyenmmIaT

C. D apan) avaelenamuiaalsoled ga

(rnmmn:ﬁsn_)

. Cagan enieslellam aotniasil o] gaicsy
@i, A apmo ausrEleloy ojadoenm

Ty,

serled D ogeonl monmaye walg)

pmod smaElnd E - anoomosanamase,
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24 a. Define production possiblity
frontier
b. Draw PPF (PPC) on the basis of the
following data.

l;ssibiljlies Consumer | Capital
good good
A 10 0
B 9 1
C 7 2
D 4 3
E 0 4

25. "The Great Depression of 1929 js really
break through for the emergence of
maodern macro Economics”, Briefly give
vour inferences on the statement

26. Draw an imaginary linear demand
curve and locate the points which
represents the following elasticities.
ep=lep=Cep=qep> Lep=<1

. A, ae‘ipjmm TUHBYmD aRerldam {alesn)

all L TEN LS

b, moaw melalolgan aomemud pasmo
uita] pelnjoam ruowymo mnoildomt (1]

T N

T | @ricEiamy [ ayeiom
MM, ek - e
A 10 0
B 9 !

c 7 2
D 4 3
E & +

. W29 O PanOMOT dudTuomle @AWY,
Ryl ungel msmuemle womdm
g ofdod anena sl mlsmpns mosme
TRERDOE 20106 agys]myan,

. 29 quamelafle emdenad capsmoes
M3a] Moa melaio) 5188 nler gein
BTG Y BRSTIGE|S IO L .
ep=Lep=0ep=aep> Lep<1

Answer the following questions (5x1=35)
TIDYE NMIS|ID 2003500195 gTmaaIEymLe, (5 x ] = 5)

27. a. How the long run preduction
function is different from short run
production function?

b. Explain the three stages of long run
production function (Hint ; returns
to scale)

Answer any two of the following questions,
MIDE D ISIID G2023) 633103 e LT N TaT [P T

DT %Lﬂaam WdzEms (ldnomm o)
@r-;‘ﬂl.psm Wwillamemolng WMe agpEmam
ayormsegInleaan;.

b, aMiecison geiapam wilzamlod ayms
reigsmd aliilaad. (uadm : dmom
MITUBlALAD (Mo milaa)

2. n,

Fach question carries & marks {Bx2="1n}

RN HDIN @pmmaa EIMch, B8 Calday

ol B alesad afims (Bx2= 16)

|28. a. Name the three methods of

measuring National Income,

b. Write the steps of measuring
National Income by any two

methods,

8. 4. oewlo usysoma MG e T ) By

2y ol@iewd agamapey

b, apemensn, ey o uiland Drlewamla]
Ul rumj@sms Rgea) ol gy

alleilus meigemed apeyoge,
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29, Observe the cost schedule. 2. homs mEislTlgan agle cinleadlen.
":: 1c |TRC | TVC | AFC|AVClACIMCO ':’“l‘ 1 |TFC | TV | AFC|Ave|ac|me
P l‘ll

o |10 0|10
1|20 1120
2|30 2 130
3 138 3138
4 | 40 4 | 48
5 152 5 | 82
a | 60 o | 6l
7 | o4 7 | o
8 | 68 8§ | o8
9 | 74 a | 74
i0 | BG 10 | 80
0 L 11 | 92
a. Complete the cost schedule a4, el aghe adomlamlea)s

b. By using the data given in the b, @aeial agleomes aeslounosmomiod

schedule draw TFC and TC curves pzomm ©aeial oo (TC), aaoome,

in the same set of axis. oo St adeo (TFC) apanlnl o)

UMD CIDE QIO e d,
A0, a. State the conditions for the optimal 0 4. Daltesaemondlan]  Qoma DS S)

b.

choice of a consumer {consumer's
equilibriun)

Explain the same with the help of a
suitable diagramme.

ol {(paessamonilon mumyeilman
quo) @Ol o) @O N0 aon &l
ARt

AL MUADDDGENINS DalGEd
ama niled 'mgﬂ:hmumoun allaial

DI

[
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